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QUESTION 1

Which three statements are true about passing parameters to subprograms? (Choose three.)

A. PL/SQL assigns values to actual parameters in subprograms with unhandled exceptions.

B. IN parameters passed to subprograms act like constants, to which values cannot be assigned by the subprogram.
C. IN OUT parameters pass initial values to subprograms and return values updated by subprograms to the caller.
D. The actual parameter must be a variable when calling a subprogram with an OUT parameter.

E. IN parameters passed to subprograms act like variables, to which values can be assigned by the subprogram.

F. OUT parameters returning values to calling subprograms act like constants in the called subprogram.

G. Actual parameters corresponding to IN OUT formal parameters can be constants or expressions.

Correct Answer: BCD

QUESTION 2

Examine the structure of the oral.depts table:

Column Name Null Type

DEPARTMENT ID  NOT NULL NUMBER(4)
DEPARTMENT NAME NOT NULL VARCHAR2(30)
MANAGER_ID NUMBER(E-)
LOCATION_ID NUMBER (4)

Now, examine these statements issued by user oral which execute successfully:
Create or replace view dep_vu as select * from depts;
Alter table depts add dep_email varchar2(20);

Finally, examine this block of code executed by user oral:
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set serveroutput on

declare

X number;

begin

SELECT count(™)

into x colCount

FROM all tab _columns

WHERE table name = 'DEP_VU' and
owner="'0RA1";

dbms_output.put_line(x);

end;

/

Which is true?

A. DEP_VU must be manually recompiled to successfully run this code.
B. It will run successfully producing a result of 4.

C. It will result in an error because table depts has been altered.

D. It will run successfully producing a result of 5.

Correct Answer: B

QUESTION 3

Which two are valid MODIFIER values for the PLSQL_WARNINGS parameter? (Choose two.)
A. DISABLE

B. ENABLE

C. ERROR

D. ALL

E. SEVERE
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Correct Answer: DE

QUESTION 4
Which two are true about packages? (Choose two.)

A. Variables and cursors defined in a package specification are visible to all subprograms in the same schema that has
the package.

B. Modifications to a packaged procedure\\'s body automatically cause recompilation of subprograms that invoke the
procedure.

C. Package specifications can be compiled without their bodies.

D. Standalone subprograms that reference a package can be compiled only after both the package specification and
body are compiled.

E. A package definition must have a specification and body.

Correct Answer: AC

QUESTION 5

Which two are true about lexical units? (Choose two.)

A. Character literals are case-sensitive.

B. Spaces can be embedded in delimiters.

C. Identifiers include labels.

D. A character literal with zero characters has the BOOLEAN value NULL.
E. All user-defined identifiers must start with an alphabet.

Correct Answer: AE
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